o
=
43
-
e

%68 FATT A 0D 45 (5 14 A2 R & it FR T A 0D B 5% ‘
— TR TENADNADRSY 25 OB —

RE 0H Rl

EM13FEE HARAR

XHEAaE
B~ X TEMKYDARS T BBHICEE 2 RITT Me0
MgOt 25 7 & OEhOREE L _ 0N S
[ | 1500°C§Ci’3ﬁéﬁ@iﬁx:79“b:l6‘77*“/7”5"125 o
v 7 AE) DRIBEENEIR THa /MgO;ﬁEH B maR— R
_ b I |/
BRI X 7 J$H R (mass%) #‘*ﬁi L - FREK
Slag X Slag Y SEEJelE 137
Si0, 42 37 o — |
Ca0 38 33 R 7"’5(7'§
A10, 20 20 nAb
MgO 0 10 BREBNESIEEREE OMIKX

FR1SFE HEMR

Wanibe 5 D & RRFREIR & DREFRE R OAREREMHET TORF 7 ORER S 13(1)XTERER

h= (2ycosf>,/"pg) + (r0/R2) ,R2=(rt2+rt-+-r0+r02)/3- - Q)
(h ;W2 t COBMETZ LRTARAT7OBBEES, 10; BIEROBMEOLE, r t ; SR ¢ BBRO 2T VIBHE TOBME O¥E
0 oo AT 7 L EBMEREL OVl y 3 AT V7 OREET), 0 AT DORE 0 ; AT TOEE, g ; HIIEHE
hé (rO/R2) LOREFEZLUTORIITT

£ /] £
S 18 74“ o 67 S 18 /</ 52
- < ®
-%" 16 0 16 °o®
(]
c 14 ¢ c 14 B
o Slag X o Slag Y
= 12 + 12
s v
= 10 qﬁé 10
= 0.4 0.45 0.5 = 0.45 0.5 0.55 0.6
ro/R2 /mm-—1 ro/R2 /mm-—1
ASTHBRICKYEHRDIEENRLS (HEZERET SMEIL 7 cosO )
Young®DH, : ylcos@ = ys — vsl
YLERSTOREEN, 1s: TR TEMEROREEN, 1T AL 7EMEE XSS ROREES
1500°CI=B 1T 3R 5T ~DMgOD %2 & (mass%) BRERGICEIROBEIAILF—ELED RERDDIERD
SlagX:14, SlagY:4 -|]|:'\> £ (Aksay model) /5 FEIRA, vsl, [ESlagXFRD A HSlagy F
BRIZESROBHAIRILF—DELEEF KYBINKEBEEREINS, ZORER, EROIEEHSlagXRD
SlagX % > SlagY % HMSlagY REVBRELAGDEZZOND.

MODERMIBER ST ~DBFBREIZE TR 7EMER- RSV BOBMABEENIL, 55
~NDMIODEMEBICKESHLEEZITHEATRERINT-




